```
Filtrations, adopted processes, stopping times.
        Det. (I, 7) - measurable space. Filtration is an increasing fromily of sub-o-algebras of 7. A measurable space with & filtration is called a filtered space (Fi) 46 T, t-some notes sur towns, TAN or ITR. Examples: 1) A b-addic filtration of ([0,1],B): 7 - generated by the b-addic intervals of n-th generation
         2) Det. A process is called adapted to a filtertian it X is
                      Each process how a natural filtration the smallest till rationation
                      makes X + + measurable
     Def. A stopping time Twrt filtration

(It) to I is a random tunction T: A -> I sach-that

V to I { w:T | w) { t } t }.
                                                                                                                                                                                                              Fria (AETo: ANTEH) FT, HY.
  Examples: 1) I=IN T= min {h: X, EA}-
hitting time. ({T-h}={\omega: X, EA}\nlfl; {\omega: X}(\omega) \noting

Z) I=IR, X + a.s. consinuous us a function of

1, then I=intst: X + EA}- s-lopping time.
                   ( 2 w: T(w) <1) = 1 U { Xist(Xg(w), A) ( \frac{1}{4})}
    Def. Submartingale Wrt (I) LEI.
                  X+ (F+)-adapted.
                submartingale (+ V s < +, s, +ct:
        Xs < E(X+(+s).
Supermortingale (=) - X + Sub mortingale
     morringale = 5 ub- + Super Martingale.
Example . Dyadic navingales:
Main example: f-F - measurable. Then
ts:= E(+17) - mortingale.
  When Loes it occur?
 To answer this question, we first need.
   Lemma (Maximal inegonality). Let (X,) N be a discrete submortispale
  Then \forall \lambda > 0 \lambda P(X^* \ge \lambda) \le \int |X_N| dP.

Here X' \omega F = \sup_{t \in I} X_t(\omega) - \max_{t \in I} f_{\alpha n}(t) = \lambda 

Pt. Let T(\omega) := \{\min_{t \in I} X_n(\omega) \ge \lambda\}, X' \ge \lambda

Then X = \min_{t \in I} X_n(\omega) \ge \lambda

Then X = \min_{t \in I} X_n(\omega) \ge \lambda

Then X = \min_{t \in I} X_n(\omega) \ge \lambda

Then X = \min_{t \in I} X_n(\omega) \ge \lambda

Then X = \min_{t \in I} X_n(\omega) \ge \lambda

Then X = \min_{t \in I} X_n(\omega) \ge \lambda

Then X = \min_{t \in I} X_n(\omega) \ge \lambda

Then X = \min_{t \in I} X_n(\omega) \ge \lambda

Then X = \min_{t \in I} X_n(\omega) \ge \lambda

Then X = \min_{t \in I} X_n(\omega) \ge \lambda

Then X = \min_{t \in I} X_n(\omega) \ge \lambda

Then X = \min_{t \in I} X_n(\omega) \ge \lambda

Then X = \min_{t \in I} X_n(\omega) \ge \lambda

Then X = \min_{t \in I} X_n(\omega) \ge \lambda

Then X = \min_{t \in I} X_n(\omega) \ge \lambda

Then X = \min_{t \in I} X_n(\omega) \ge \lambda

Then X = \min_{t \in I} X_n(\omega) \ge \lambda

Then X = \min_{t \in I} X_n(\omega) \ge \lambda

Then X = \min_{t \in I} X_n(\omega) \ge \lambda

Then X = \min_{t \in I} X_n(\omega) \ge \lambda

Then X = \min_{t \in I} X_n(\omega) \ge \lambda

Then X = \min_{t \in I} X_n(\omega) \ge \lambda

Then X = \min_{t \in I} X_n(\omega) \ge \lambda

Then X = \min_{t \in I} X_n(\omega) \ge \lambda

Then X = \min_{t \in I} X_n(\omega) \ge \lambda

Then X = \min_{t \in I} X_n(\omega) \ge \lambda

Then X = \min_{t \in I} X_n(\omega) \ge \lambda

Then X = \min_{t \in I} X_n(\omega) \ge \lambda

Then X = \min_{t \in I} X_n(\omega) \ge \lambda

Then X = \min_{t \in I} X_n(\omega) \ge \lambda

Then X = \min_{t \in I} X_n(\omega) \ge \lambda

Then X = \min_{t \in I} X_n(\omega) \ge \lambda

Then X = \min_{t \in I} X_n(\omega) \ge \lambda

Then X = \min_{t \in I} X_n(\omega) \ge \lambda

Then X = \min_{t \in I} X_n(\omega) \ge \lambda

Then X = \min_{t \in I} X_n(\omega) \ge \lambda

Then X = \min_{t \in I} X_n(\omega) \ge \lambda

Then X = \min_{t \in I} X_n(\omega) \ge \lambda

Then X = \min_{t \in I} X_n(\omega) \ge \lambda

Then X = \min_{t \in I} X_n(\omega) \ge \lambda

Then X = \min_{t \in I} X_n(\omega) \ge \lambda

Then X = \min_{t \in I} X_n(\omega) \ge \lambda

Then X = \min_{t \in I} X_n(\omega) \ge \lambda

Then X = \min_{t \in I} X_n(\omega) \ge \lambda

Then X = \min_{t \in I} X_n(\omega) \ge \lambda

Then X = \min_{t \in I} X_n(\omega) \ge \lambda

Then X = \min_{t \in I} X_n(\omega) \ge \lambda

Then X = \min_{t \in I} X_n(\omega) \ge \lambda

Then X = \min_{t \in I} X_n(\omega) \ge \lambda

Then X = \min_{t \in I} X_n(\omega) \ge \lambda

Then X = \min_{t \in I} X_n(\omega) \ge \lambda

Then X = \min_{t \in I} X_n(\omega) \ge \lambda

Then X = \min_{t \in I} X_n(\omega) \ge \lambda

Then X = \min_{t \in I} X_n(\omega) \ge \lambda

Then X = \min_{t \in I} X_n(\omega) \ge \lambda

Then X = \min_{t \in I} X_n(\omega) \ge \lambda

Then X = \min_{t \in I} X_n(\omega) \ge \lambda

Then X 
   Then E(|X_N|) = E(|X_N| |X_{\{T=n\}} |X_{X^k \ge \lambda}) + E(|X_N| |X_{X^k \ge \lambda}) \ge 1
        ZE(|X,| X{T=h}Xx*3) + , 2) |XN|dp>
      X \in P(X_{1}, X_{2}, X_{3}) + \int |X_{N}| dP = X_{2} P(X_{1}, X_{3}) + \int |X_{N}| dP, and we get the startement. In X^{*} \in X
```

```
X E P (X = 1) X x x x x + S | X N | d P = x P ( X x x x ) + S | X N | d P, and we get the statement. In X < x
   Corollary. P(X* > X) = Sup E(|X+|) hor any submarkingall
    (X+) which is either discrete or Continuous.
    Pt. First, for discrete. Let XN:= max Xn, then
                  XX = $i'u XV (increasing), no P(X) > \ = sap P(X_N > \) =
  Sup E ( | X N ) 

For continuous, consider | 1 = X + n = N. I + is a minority gale with respect to L = F + n = n = By continuity, X' = 1 in lim (YN,t)*, and we can use the discrete inequality.
  Corollary. Let (X) be a submartingale ( w, the Continuous trajectories in autimous
       Essel. Than E(XAP) = (P) Psup |Xy|P
    Lety be the bon of Xt (M(1a,1)): 12 (ac X = 0)) 7 cm
    E(1x1/P) = Sx'dm = Spx + 1 P(x'>) dx < Sp x - ( 1 x / x / dP) dx =
   p = ( | XN | 5 × 2 × 2 × 2 = $ , E ( | XN | 1 × 2 | b-1) = E ( | XN | b x E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - | b ) = E ( | X - 
 Corollary (X) - martingale (watermous in watermous case), and sup E(IX, 1) es
Then I'm IX, 100 a.s.
    Then IXI CO a.s.
PL P(Imi IXI > 1) < P(X > 1) < E Sup F(IX, 1) < >
    Remark With a Bit were work, one can prove theat the this situation,
                             ling & endson a.s. Will prove a particular case.
 The Martingale convergence Then).
Let pol, (Xn) - dissorte marringale, Sup. E((Xn)) = Then ]Xx:
1) E(IX= P) < 00, X= is Fa-meanrable.
2) X, -> X= a.s. and in LP (p < 0).
 3) Xn= E(X∞ (Fn).
  Remarch Same is true in continuous case, by discrete approximation
 Pt Enough for per (for per only need (|X) | = >, which bollows

two a.s. where ence).

Take a subsequence X, beauty converging in L9 (-1+1-1), X:=1, m X (weak).

For seFn, X, & L*, 20 th:
  SX<sub>s</sub> X<sub>n</sub> dP= eim S X<sub>n</sub>; X<sub>s</sub> dP= SX<sub>s</sub> X<sub>d</sub>P<sub>p</sub> 20 [X<sub>n</sub>] = SX<sub>d</sub>P<sub>p</sub>, i.e. X<sub>n</sub>= E(X<sub>n</sub>|T<sub>n</sub>)
So X<sub>s</sub> is unique on F<sub>n</sub>, and thus X<sub>n</sub> × sin L<sup>p</sup>.
let A<sub>X</sub>(W):= Tim X<sub>n</sub>(W) - Lim X<sub>n</sub>(W) = a.s. f in ite.
    20 P(\Lambda_Y(\omega) > \varepsilon) \leq P(X^* > \varepsilon) + P(\xi X^* > \varepsilon) \leq \frac{2}{\varepsilon} S(X_{\infty}|dP)
    Let now D: {g { l': y is In-measurable hor some h }. Disdense in l.
   So tero 3 g & D: E (| X - g & | b) < 2? Then, P ( D x > E | = P ( D x - g > E \ \frac{2}{5} \cdot \fra
  Zo A_{X=0} a.s., thus \lim_{n\to\infty} X_n exists a.s.

Also, E(|X_n-X_n|^p)^q \neq E(E(X-g_E|F_n)^p)^q + \overline{E}((g_E)_n-g)^p)^p = 0 we large n
   E ( IX-98 | ) // EZV & Los longe a.
  In hack, assuming a.s. annergence (technical), one can wrone more.
 Det led (Xx) & (Fx) - adapted process. Then (Xx) is called anitorally intograble (u.i.) it \forall \epsilon > 0 \ni \delta > 0 : \forall t \forall t \in T; P(E) < \delta = ) \int |X_{\epsilon}| dP < \epsilon
```

```
\frac{Pf}{Pf} = \frac{\sum |X_{+}| dP}{\sum |X_{+}| dP} = \frac{\sum |X_{+}| dP}{\sum |X_{+}| dP}} = \frac{\sum |X_{+}| dP}{\sum |X_{+}| dP} = \frac{\sum |X_{+}| dP}{\sum |X_{+}| dP}} = \frac{\sum |X_{+}| dP}{\sum |X_{+}| dP} = \frac{\sum |X_{+}| dP}{\sum |X_{+}| dP}} = \frac{\sum |X
   The Let (Xx) be a discrete or continuous morthyale.
      1) 3 (, m X = X in C.
        2) X+= E(X0 | F+) tor some X0.
        3) X+ is a.i.
  Pt. 11=>2) l'-com implies to 2 to EF, SX, SP= lim SX dP= SX dP. 21=>3) Take S to 2 & that works to 2 X & E S = E
    3)=> 1) X + > X= a.s. (house to assume! !+ u.i. =) X+ > X int since
         \int |X_{t}-X_{-}| dP \leq \underbrace{P(|X_{t}-X_{\infty}| \leq \varepsilon)}_{X_{t}} + \underbrace{\int |X_{t}-X_{\infty}| dP}_{X_{t}}
  Now let is waren rate on Liverete martingales.
  Than (Discrete Ità integration). Let 1-1, be In-, - meanrable (predictable process),
    Then Yh is also Fr - mardingale. Notation: Y= (H.X).
    Pf. E(Yn | Fn.1) = E(Yn.1 + Hn (X, - Xn., ) | Fn., ) = Yn., + Hn E(X, - Xn., | Fn., ) = Yn., = Xn., | Fn., = Xn., 
Crollary. It T- Stopping time, XT:= Xmin(n,T). Then XT is a martigale
                                      ( Called Hopped mand, ugale).
   Thm (Discrete Optional Stopping Time).
        It SET-two bounded Stopping times (i, l. ] MEN: M3.725), then
           X_{\varsigma} = F(X_{\tau}|\mathcal{F}_{\varsigma}).
Pt. Let Hn:= XT>n-X5>n.
F(1,X) = X_7 - X_5, for n > M, m = E(X_7 - X_5) = E(X_0 - X_0) = 0

Take now B \in \mathcal{F}_5, consider S^B = SX_B + MX_B = T^B = TX_B + MX_B = 0

S^B \in T^B, 20 E(S^B) = E(T^1) = 0 E(SX_B) = E(TX_B) = 0 E(TT_5) = S_{-1}
 Det Quadratic variation of amartingale Kulis
              S_{n}:=\sum_{j=1}^{n}E(X_{j}-X_{j-1})=S_{n-1}+E(X_{n}^{2}-2X_{n}X_{n-1}+X_{n-1}^{2})
        Snit E (X2) Fni ) - Xni -
Note that sis predictable, and X2-Sisa martingale.
                 (E(X,2-5, (7,1)=E(X,2/7,1)+X,1-5,1-E(X,2/7,1)
   Note that bur dyadic martingale,
           E((\chi_n - \chi_{n-1})^2) = (\chi_n - \chi_{n-1})^2, \text{ (increase on the left = decrease on the right) to}
S_n = E(\chi_n - \chi_{n-1})^2.
   Thm (Levy) let X, be a martingale, A = dw: S= lim S - ->.
     Then a.s. 04 A 3 /1 m Xa
   Pt Let T:= int (n-1: 5,3 M). Because Snis predictable, Tis
         a stopping timel, Xt 17 a marringale. Sh (XT) < M( it is = 5h boz
    n < Til and then ways the name).

Observe that E(X_{k}^{2}) = E(S_{p}) + E(X_{s}^{2}), since X_{k}^{2} - S_{p} is a
          martingale.
```

```
Observe that E(X_n^2) = E(S_n) + E(X_n^2), since X_n^2 - S_n is a
  Thus sap IIXIII2 = -, 20 HM 3/m XT = 1 m Xn is T = M, Bugg
  Martingale (onlargence Thm. Thus a.s. on (5 = ) 3 lim Xu.
   What happens on 25=037
  Thin let Xn be a real dyprosic martingale. Then
   Tim Xn <1.
anever function).
 Therefore E(Z_n|Z_{n-1})=Z_{n-1}\frac{E(eX_p(X_n-X_{n-1}))}{cosh(X_n-X_{n-1})}=Z_{n-1}
 So Znisa marxingale.
  In wardicular, E(2n)= E(20)=1.
 Let N: = in + (4: X, > ) _ stopping + I me
   Lemma Let Ed, B = SN2 < 00, SN < B}. Then
   |||(E_{2,B})|| \leq e^{-\left(\frac{2^2}{2B}\right)}
  Pt set t:= 1/8, consider Zn to be the exponential transform
of the. Then, since cosh sees, we have:
     e^{\frac{1}{2}} \mathcal{P}(E_{\alpha,\beta}) = E(e_{X\beta}(4J - \frac{t^2}{2}\beta)\chi_{E_{\alpha,\beta}}) \leq E(2\chi_{X}\chi_{E_{\alpha,\beta}})
          (since on Ez, B) ZN, Z d, SN, SB). < E(ZN, )= E(ZO)=(T
              optional stopping time. In
   Now fix too.
₹ E := $ S = ∞, Xn > (+ ε) V2 Snloglog Sn i.o. }.
   Detine T4:= min (n: Sn ) (1+ 8) (4. Then
      Fu := {S=0, 3 nc[Tx, Tu+1]: Xn>(1+c) V2 Sloglogs.
E = \lim_{n \to \infty} E_k, \quad \text{in eld to show that} \quad E P(E_k | coo and use}
E = \lim_{n \to \infty} E_k, \quad \text{in eld to show that} \quad E P(E_k | coo and use}
E = \lim_{n \to \infty} E_k, \quad \text{in eld to show that} \quad E P(E_k | coo and use}
E = \lim_{n \to \infty} E_k, \quad \text{in eld to show that} \quad E = \lim_{n \to \infty} E(H_E)^{k+1}
E = \lim_{n \to \infty} E(H_E)^{k+1} = \lim_{n \to \infty} E(H_E)^{k+1}
E = \lim_{n \to \infty} E(H_E)^{k+1} = \lim_{n \to \infty} E(H_E)^{k+1}
E = \lim_{n \to \infty} E(H_E)^{k+1} = \lim_{n \to \infty} E(H_E)^{k+1}
E = \lim_{n \to \infty} E(H_E)^{k+1} = \lim_{n \to \infty} E(H_E)^{k+1}
E = \lim_{n \to \infty} E(H_E)^{k+1} = \lim_{n \to \infty} E(H_E)^{k+1}
E = \lim_{n \to \infty} E(H_E)^{k+1} = \lim_{n \to \infty} E(H_E)^{k+1}
E = \lim_{n \to \infty} E(H_E)^{k+1} = \lim_{n \to \infty} E(H_E)^{k+1}
E = \lim_{n \to \infty} E(H_E)^{k+1} = \lim_{n \to \infty} E(H_E)^{k+1}
E = \lim_{n \to \infty} E(H_E)^{k+1} = \lim_{n \to \infty} E(H_E)^{k+1}
E = \lim_{n \to \infty} E(H_E)^{k+1} = \lim_{n \to \infty} E(H_E)^{k+1}
E = \lim_{n \to \infty} E(H_E)^{k+1} = \lim_{n \to \infty} E(H_E)^{k+1}
E = \lim_{n \to \infty} E(H_E)^{k+1} = \lim_{n \to \infty} E(H_E)^{k+1}
E = \lim_{n \to \infty} E(H_E)^{k+1} = \lim_{n \to \infty} E(H_E)^{k+1}
E = \lim_{n \to \infty} E(H_E)^{k+1} = \lim_{n \to \infty} E(H_E)^{k+1}
E = \lim_{n \to \infty} E(H_E)^{k+1} = \lim_{n \to \infty} E(H_E)^{k+1}
E = \lim_{n \to \infty} E(H_E)^{k+1} = \lim_{n \to \infty} E(H_E)^{k+1}
E = \lim_{n \to \infty} E(H_E)^{k+1} = \lim_{n \to \infty} E(H_E)^{k+1}
E = \lim_{n \to \infty} E(H_E)^{k+1} = \lim_{n \to \infty} E(H_E)^{k+1}
E = \lim_{n \to \infty} E(H_E)^{k+1} = \lim_{n \to \infty} E(H_E)^{k+1}
E = \lim_{n \to \infty} E(H_E)^{k+1} = \lim_{n \to \infty} E(H_E)^{k+1}
E = \lim_{n \to \infty} E(H_E)^{k+1} = \lim_{n \to \infty} E(H_E)^{k+1}
E = \lim_{n \to \infty} E(H_E)^{k+1} = \lim_{n \to \infty} E(H_E)^{k+1}
E = \lim_{n \to \infty} E(H_E)^{k+1} = \lim_{n \to \infty} E(H_E)^{k+1}
E = \lim_{n \to \infty} E(H_E)^{k+1} = \lim_{n \to \infty} E(H_E)^{k+1}
E = \lim_{n \to \infty} E(H_E)^{k+1} = \lim_{n \to \infty} E(H_E)^{k+1}
E = \lim_{n \to \infty} E(H_E)^{k+1} = \lim_{n \to \infty} E(H_E)^{k+1}
E = \lim_{n \to \infty} E(H_E)^{k+1} = \lim_{n \to \infty} E(H_E)^{k+1}
E = \lim_{n \to \infty} E(H_E)^{k+1} = \lim_{n \to \infty} E(H_E)^{k+1}
E = \lim_{n \to \infty} E(H_E)^{k+1} = \lim_{n \to \infty} E(H_E)^{k+1}
E = \lim_{n \to \infty} E(H_E)^{k+1} = \lim_{n \to \infty} E(H_E)^{k+1}
E = \lim_{n \to \infty} E(H_E)^{k+1} = \lim_{n \to \infty} E(H_E)^{k+1}
E = \lim_{n \to \infty} E(H_E)^{k+1} = \lim_{n \to \infty} E(H_E)^{k+1}
E = \lim_{n \to \infty} E(H_E)^{k+1} =
```